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In case of discrepancy between the English and Hindi versions of any question, the :
‘version will be treated as final. . -
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Choose the correct option and write jt :
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When ﬁé‘=%=cz then the system of equation mxtbyy+e =0
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and a,x + by + Cz'ﬂi 0 has :
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(a) Unique solutio@f (b) Both solutions
(¢) No solution g Ad)” Infinitely many solutions
ﬂl
The quadratic equation axz+'bx+c=0 has real and equal roots if :
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(c) 20 <t (d) 22

(d) Infinite
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Fill in the blanks :

(i) 2 isa num
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(i) A polynomial of degree 3 is called a polynomial.
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(i) Area of similar triangle are always equal.

Write True / False in the following
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Match the correct column : : 3
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(i) 9sec® 4—9tan2 4 (a) 0 9
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(i) faam giewor & A w9 fafag) LP.,

(ii) aﬁgﬁ%mﬁﬁaﬁﬁw@ml

(iii) F@feg (0,0) & fig (v, p) & g %ﬂﬂt{l
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Write the answer in one word / sentelfge of each :

(i) Write the standard form of a quadratic equation.

(i) Write any one condition of similarity of two triangles.

(iii) Write the distance between origin (0,0) and point (x;, y)-

(iv) If shadow and height of the pole are equal, then what will be the angle
of the elevation of the Sun? g -
Q
(v) Write the formula of the length of aniarc of a sector of angle 8 and
radius 7.

(vi) Write the class mark (middle point) ‘of 20 —40.
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Write the statement ol fundamental theorem of Arithmetic. ﬂ
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Explain, why 7% 11 x 13+ 13 and 7% 6x5x4x3x2x1+5 are c&mposile .
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The graph y = P(x) is given below for some polynomial P(x). Find'lhl:‘g
number of zeroes of P(x) in this case. '
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Find the zeroes ol 4uz+8u.

g .
Find a quadratic polynomial, if the sum ana:prqduct of whose zeroes are —%
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an 1 respectively. =
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x+2y=8 <
x—y=28 g
| | Sk
| Solve the following pair of linear equations :
| x+2y=8
. ot 0
| x—y=8 ! oy
| (9))
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Find the 10 term of (he Ap. e 7,12,
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Which term of the AP+ 21, 185 is —g12
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Write the statement of Basic Propbmonallty Theorem.
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It coszi:%, find the value of sind and tanA.
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In a circle of radius 14 cm, an ar;?s'ubteﬁds.an 'ang]e of 45° at the centre.

Find the area of the sector formed by the arc (n:'=%2— ot 3.14)
-t i L] i
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Two players A and B play a tennis match. It is known that the p ty

ili inning the
of A winning the match is 0.63.2‘:}&r’hat is the probability of B winning

match? =
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A die thrown once. Find the probability of geiting a prime number.
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A bag contains 3 red and 5 black balls. A ball is drawn at random from
the bag. What is the pmhability{;}mt the ball drawn is

(1) red?

(i) not red?
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Find the roots of the equation 2x> -5y 43 =0 by lactorisation.
s/ R
A FUC OIS qote s B et @ A 365 @

Find two consecutive positive integers, ;ﬁjhm of whose squares is 365.

R #31 f5 arer fig & g9 T Wi T sl et @ wareat auae e &
Prove that the lengths of tangents drawn from an external point to a
circle are equal.
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Two concentric circles are of radii 5 cnﬁ.:and 3 cm. Find the length of
the chord of the larger circle which touches the smaller circle.
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2 cubes each of volume 64 cm? are joine@ end to end. Find the surface area
of the resulting cuboid. ()}
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A fraction becomes %‘ if 2 added to b(zﬂh the numerator and the denominator.

If 3 is added to both the numerator and the denominator it becomes 2
!r‘]!
Find the fraction. o
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Solve the following pair of linear equations by elimination method :

x+y=35

2 — = gl

x—3y=4 o |
Ei‘
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P S T BTN (V3 =1.732 FRm)

A statue, 2 m tall, stands on the top of a pedestal. From a point on the ground. '
the angle of clevation of the top of thetgirame is 60° and from the same point
the angle of elevation of the top of the pedestal is 45“ Fmd the helght of the

I [ —
pedestal. (Use 3 = 1722) e
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A survey conducted on 21 households Ln‘ a locality by a group of students
resulted in the following frequency 1abl§for the number of family members

in a household : =

<
Family size 1-3]| 3-555-7[ 7-9o—11
Number of families 7 g | 3 2 1
Find the mode of this data. Q

o

m!@h
o
Frr=fotaa sl 34 e @ | 2 (sferera &) zoteh ¥ 1wy wweRan = SR
<
A7 fafr (assumed mean method) & T @)

WA T (% H) 14555 | 55-65 | 65175 | 75-85 | 85-95

o -
i rL.*.'rl ] o

.......




